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36. Give one word substitution for the following:
The system of single marriage
(1) Monogamy (2) Monolith
(3) Monocle (4) Monochrome

37. A person who believes that people cannot know whether God exists or not is called

"‘——-.._.____‘__-
Fill the blank with suitable word.
(1) Theist (2) Atheist
(3) Agnostic (4) Nomad
38. Fill in the blank using the correctly-spelt word.
Ranbir his parents' dreams.
(1) fullfilled (2) fulfilled
(3) fullfiled (4) fulfiled
39. Choose the option which is opposite in meaning of the underlined word.
She is known for her nefarious ways of dealing with people.
(1) positive (2) evil
(3) neutral (4) kind
40.  Find out the part of the sentence which contains error.
Long life is desirable / if one be healthy
1 2
and has some money to spare / No error
3 4
(1) Long life is desirable (2) if one be healthy
(3) and has some money to spare (4) No error
41. Out of the f : £ .
i un;}:rraltzrnatwes, choose the one which best expresses the meaning of the given word,
- rlined.
The s :
¢ superstar was known for his laconic answers.
(1) descriptive
(3) brief (2) scandalous
\ (4) copious
B
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42.

The following question has words designated as A B C D E and F which are jumbled up and need

to be rearranged to form a proper sentence. Find out the correct sequence of the words and select
the correct option as the answer.

A: always B: coffee
C: to D: like
E: have F: you
(1) FADCEB (2) ABDEFC
(3) DEFABC (4) FCEBAD
43. Choose the right option to fill in the blanks.
As the students fail to ____ continuously they lose the  of the art.
(1) practice, practise (2) practise, practise
(3) practice, practice (4) practise, practice
44.  Choose the right option to fill in the blanks.
The duty of the _____ of ministers is to offer ____to the king.
(1) counsel , counsel (2) council , counsel
(3) counsel , council (4) council , council
45. Find out the error part from the given options:
After many attempts / he gave out / the idea of earning money / through gambling.
a b c d
(1)a 2)b
3)c 4)d
46. Fill the correct option that agrees to the first part of the sentence.
When I went there ____
(1) I found that my sister was studying (2) I find that my sister is studying
(3) I found that my sister is studying (4) I find that my sister was studying
47.  Fill in the blanks with suitable articles.
It was raining heavily. All the students wanted to go home early. Hence, they decided to send _____
student to _____ headmaster to seek permission.
(1) a, the (2)a,a
(3) the, a . (4) the, the
48. ldentify the correct form of tense in the following sentence:
My brother ___ tomorrow.
(1) arrive (2) arrives
(3) arrived : (4) has arrived
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: ing sentence:
Identify the correct form of tense in the following §

i a holiday soon.
I:;mftomg to i
((3) iﬂ (4) gets

i ‘ticles i » following sentences:
51l in the blanks with correct articles in the fo :
Fill in the blanks o

Smitha brought a lot of luggage with her. She got down. She left Failwg
station.
(1) the, a (2) % the
(3) the, the (4) a,2
Fill in the blanks with correct articles in the following sentence:
Suman is goingtobuy _ hatand ______ umbrella. =
(1) an, a (2) a, an
(3) the, a (4) a, the
Choose the most suitable alternative to make the sentence logical.
The football match was  live across the nation.
(1) broadcasted (2) broadcasting
(3) broadcast (4) broadcost
Choose the suitable interjection for the following sentence.
L Ididn't expect to see you here.
(1) Oh (2) Alas
(3) Bravo (4) Ouch
Choose the most suitable alternative to make the sentence logical'.
He  goes to the market.
(1) almost (2) enough
(3) rare (4) seldom
:":':t:etr:ns;l:]t::ce and choose the most appropriate meaning for the underlined idioms and Ph“’w
: lhjehti:;: :::Zr:::‘c::'iid@d 0 bury the hatchet and keep their relations healthy.
) e vt (2) keep on fighting

(4) keep mum

DRRRENEET
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Choose the mis-spelt word:
(1) Auxilliary

(2) Attainable

(3) Auspicious

(4) Available

57.
adding the prefix.

The clerk was dismissed from the job because he was sincere.
(1) un - (2) in -
(3) dis - (4) less —

58.  Choose the most appropriate answer from the alternatives given below to complete the word by

adding the suffix.

The postpone of the exams was announced this morning.
(1) -ment (2) —ed
(3) —ness (4) —ous

59.  Choose the right conjunction for the following sentence:

I hurt myself I was playing cricket.

(1) how (2) Whenever

(3) while (4) Whatever
60. Choose the right conjunction for the following sentence.

Wait here __ I get back.

(1) still (2) until

(3) when (4) as soon as

61. Choose the most suitable alternative to make the sentence logical.

Ramesh has been working in the same company 2020.
(1) since (2) from
(3) before (4) afterwards

62. Choose the appropriate word that can be substituted for the given words.
A woman who is a former student of a school or college.
(1) Alumna (2) Alumni
(3) Alumnus (4) Almanac

Choose the most appropriate answer from the alternatives given below to complete the word by

SPACE FOR ROUGH WORK
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63.

64.

65.

66.

67.

Choose the option which is opposite of the underlined word in the following sentence.

Thomas tried a lot to come out of his knotty situation.
(1) Complicated (2) Simple

(3) Difficult (4) Onerous

Which of the following is a pair of vf'i;ds with opposite meaning?
{
(1) nasty — offensive @Q !@
)
(2) novice — experienced )

(3) mettle — courage \“

b
(4) profuse — lavish @

@&fo :b@@

Compare the underlined part of each sentence with the expressions (1), (2), (3) and (4). Choose the

expression which is an improvement upon the underlined part.

One of my friends are working in the largest factory of the city for five years.

(1) was working (2) have been working

(3) has been working (4) were working

In the following question, choose the word similar in meaning to the word given below:

Simpleton

(1) Fool (2) Minimalist

(3) Simple (4) Decorative

My boss is known for his laxity in dealing with various issues.

Choose the option which is synonymous with the underlined word.

(1) Careful (2) Slack
(3) Strict

(4) Sturdy

SPACE FOR ROUGH WORK
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8. Select the sy nonym of the word which is underlined.
I] Wl V€ » ; 7 1
e came all the way from Pakistan to pay homage to the departed soul.

(1) humility (2) tribute

(3) obedience (4) allegiance

69.  The following question has words designated as A, B, C, D, E and F which are jumbled up and

" :
¢ed to be rearranged to form a proper sentence. Find out the correct sequence of the words and
select the correct option as the answer:

A: know

B: passes
C: they D: will
E: time F:as
(1) ACBDFE (2) FEDCBA

(3) CABFED (4) CDAFEB

70. The following question contains a paragraph of six sentences. The first and sixth sentences given
in the beginning and the end are numbered as (1) and (6) respectively. The four sentences are
labelled as PQR and S and jumbled up. Choose the correct combination of sequence.

(1) Once upon a time a peasant boy fell in love with a princess. He went to the king and said,

"I want to marry the princess".

P. But. she did not want her father to know about the visit. She took the help of her friend who was
the daughter of the jailor.

Q. The king became very angry. He jailed the boy.

R. One night both the princess and her friend, the jailor's daughter, visited the jail. She saw the
boy hiding behind a pillar.

S. The princess came to know about this. She wanted to see the boy out of curiosity.

(6) She went near the pillar and had close look at him. He was handsome and was well-built. The

princess thought, "Ah! Nice looking young man!"
(HDPQRS (2)SQPR
3)RSQP 4 QSPR
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71.

In power point, which of the following

file types can be used to export your presentation in order
to preserve animations and Multimedia?

(1) PDF (2) HTML
(3) MP4 (4) GIF
72. The decimal equivalent of (-FACE):s hexadecimal number is:
(1) 64204 (2) —64204
(3) -64200 (4) 64208
73. The last usable host address of prefix 182.144.100.0/26 is:
(a) 182.144.10.255 (b) 182.144.10.62
(c) 182.144.10.254 (d) 182.144.10.0
(1) a only (2) b only
(3) d only (4) a and c only
74.  The total number of usable IP address in Class A IP addressing is:
(1) 16777216 (2) 16777214
(3) 4294967296 (4) 256
75. Find the ODD member out:
(1) Asynchronous Transmission
(2) Synchronous Transmission
(3) Parallel Transmission
(4) Isochronous Transmission
76. attacks occur when attacker continuously bombards with various protocol messages
designed to consume system resources.
(1) Identity theft (2) Denial of service
(3) Man in the middle attack (4) Virus attack
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Al

www.shikarat.com -



77. 3B TG CABIR, MdIA:

(1) 255, & af dees dc&:ﬁ F0° R e QSOR BT (EDGE)
(2) T Rees IDFTE (SMS)

(3) WROCF T B Se@odne BRFEF (GPRS)
2~
(4) ARRC BT DOTF &332 (CDMA)

78. B Gs*naﬁq‘)m*aa R 230 WP R0 FOTSO ?

(1) B S Jeeztedootss (2) F&° S, Seesfdooes
(3) 2p Nx® S, Jeestedosst (4) R =0, Beesedots
79. ) WYITRONR B0, 1, A eders Tone BRI on’ ToTRRUNY ¥HT IS AT 3 03 BT B
I fam@ﬁ ) FONERD, DR LI WOBROFHRY . &N B[R SRS P& FOTO TREO BAFTNTZE?
1) 3, = ‘;c‘ & Q IDFE (1aal) (2) PR I D BRETF (SaaS)
(3) TesgRTo B.XF & IDFX (Paas) (4) B &,3°

80. TOEFRCC ITB TFITNVR TF) SR (ROM)TY BesdTEoRNTI Fp, e, orf DI BIT?

(1) TR eT* ' (2) mEec?
(3) PR (4) es=IBeedon® 230
81. :WNSJNO 035 ORI TT 00w 2B, SR 8B AT AT gw e ol caaaai.moadagd?
(1) Bee0 R siend a&%o‘ (N0VeTF) ) ewﬁmseimcﬁ aﬁ%a‘ (ReTF)
(3) oBR0 & T OWIT (RoRe3TF) (4) Tp 01,0 FI0LITE DRIT' (HABT')

g 21 BENSINEO CIRIT WL BT TFFHO?

(1) o= (2) IR;F° wax® (Mac 0S)
(3) 0300 (4) ™, &7 mFRec
g3. 1991 c!t'.a POCST BRATY p¥rkalol #oajpﬁwc‘ PARAM 8000 'adadgi B0350ATR o3RTD?
(1) D03 8. et (2) DO &. Fo*
3) a.8.28. emgo‘ {onte] (4) QTOB® &, LIe3s

SPACE FOR ROUGH WORK

: p Al
16 www.shikarat.com




i i A

78.

79.

80.

81.

82.

83.

Select the WRONG fullform:

(1) Enhanced Data rates for Global Evolution (EDGE)
(2) Short Message Service (SMS)

(3) General Packet Radio Service (G PRS)

(4) Cisco Division Multiple Access (CDMA)

Which among the following is NOT the function of system software?

(1) Device Management (2) File Management

(3) Process Management (4) Mail Management

A user has a sudden demand of resources such as compute, storage, networking and he does not
want to maintain / manage these infrastructure.

Which cloud delivery model is suitable for him?

(1) Infrastructure as a Service (I1aaS) (2) Software as a Service (SaaS)

(3) Platform as a Service (PaaS) (4) On Premise

The program which are permanent as hardware and stored in ROM is known as
(1) Hardware (2) Software

rating system
(3) Firmware (4) Operating syste

Which of the following registers holds the address of the next instruction to be executed?
(1) Memory Buffer Register (MBR) (2) Accumulator Register (AR)

. sicter (PC
(3) Memory Address Register (MAR) (4) Program Counter Register (PCR)

Which of the following is an application software?
(1) Linux (2) Mac OS
(3) UNIX (4) Graphics Software

Who built India's first super computer PARAM 8000 in 19912
(1) Vijay K. Bhat (2) Vijay P. Bhatkar
(3) A.P.J. Abdul Kalam (4) Vijay P. Bhat
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(3) XRmoF Foms, WO (4) 8¢ B, LT
88. © SUNEPIMVO CIRT MFTIFON' BT WYR DT AT R YoRFOL' IRWT THRCE
oL LIRTIOBE AF 37 LOUNSS BEODE IWrbdayd LR HAT T, AR TE, T
(1) =¥ (HUBS) (2) daerios
(3) useTiet> (4) o
89. o= enrgems w:ggaﬁcsc‘;, @oh.2.2.8. (RAID) ORF DO
(1) bSetdnf ©C, e toldodors Gxf (2) STodoty 3 up' ool QxF
e -
(3) sz o, o coldodowr Gt (4) DAt ¥l U VodBodors A
) v~
SPACE FOR ROUGH WORK ol
o\ 3 |
\ v a \ - \
ale-®
v - O
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ad. Macros means in MS Excel
(1) Small add-on programs

(2) Programming language used to customize MS Word
(3) Tool to use mail merge

(4) VBA Program used in MS Excel and can be called repetitively using VBA

- is a scientist who introduced "stored program concept” of modern digital

(1) Albert Einstein lm 8’
(3) Abacus @ﬁ ~ &

-~
86. sB @

m f . |

e O <
O ©

Address Decoder for ‘9'. g & }t

The output of AND Gate will be '1' if and only if the input is binary

(1)o1m (2) 1000

(3) 1001 (4) 1010

Computers

(2) Dennis Ritchie

Dr. John von Neumann

i |

§7.  CRAY-XP, ETA-10 and Deep Blue computers are examples for:
(1) Mainframe Computers (2) Mini Computers

(3) Super Computers (4) Micro Computers

o networking device that amplify a weak signal so that the signal can travel over long
distance without losing its original strength
(1) HUBS

(2) Repeater
3) Switches

(4) NIC
89, Expang RAID rela

(1) Relageq
Array of | N o wnt Disks
(3) Remoy ), fdependent Disks (2) Redundant Array of Independent Dis

€A o
Fray Of Independent Disks (4) Remote Array of Independent Disks

SPACE FOR ROUGH WORK
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9{:"L

92.

93.

94.

9s.

WOTH
OSenns AR (R) Q30 QTHEC e & Toasss (2 aTfam) 89T Homd BeennTT, vy
T,303r0md %

S R SOTOS widwm e’ ‘A R =00 geodnonnt PO FogROt RIoddors
(1) By =0* e ran s (2) TS BT LRt

(3) TooFperts i3 e (4) 8 FeOF BRPTER VO
T WS RO I3 B3 FYNT 0309 FIT° o&sﬁ O, woogw BRRIZT?
(1) o8 wodn, 13 3% oust (z) ooy e 08N, b2 g oL
(3) S 3% ovet (4) a&:a;b o 3R oL
Betmeden's w78 R RoWoRATE B3 FWNT OIRRHR RETSF RIEIOF TV ?
(1) LR (2) sgﬁwg

(3) DReeSeRE (4) OB

BRODY WBEND:

a) w%w‘ Fwot FeLwes i, esT%d-45 éﬁgc*’

b) oTFEIR FeSE i, D.o88.A. 663::‘

c) 030 FeSE jii. T3/ TFR0R FNTT

d) i.raft-sﬁi oD eE Feer iv Q-3¢ #ﬁg of

BRCTONLD

(1) a-i, b -ii, ¢ - iii, d - iv (2)a-iii,b—iv,c-i,d-ii
(3)a-iv, b -iii,c-ii,d-i (4)a-ii, b-1i,c-iv,d-iii

QoRATED DOBRETE &,0-FD TR aama‘abow (WinPE) & 32020, wzg)csﬁ”cm?
(a) 2 *m‘ BR2, e, 2B 03TTT ROLITIFHCR® HNTOBT WAL SIRTED

(b) RT¢ a‘méwew‘ﬁao&a‘ TDODENTRY RTED

(¢) Dotine eafriets ITETNVN RCRICD

(d) v S, O 0330 T 2ROTTRVR) B0 LROVLO TRF OS DY TR0 ucsnﬁo@mnd.
Z dowai@ri%*@ 03303 BewF/ éc%mﬂo Boo3RNE /3 aommo

(1) ¢ =3 d I3, 2) d =R,

(3) a SRS, (4) b SR8,

NAND rietsniea) Sng, wezeen NOT riets® & QIO 039 ReesfeR) WITROIT?
03N :

(1) NAND Gate (2) OR Gate

(3) AND Gate (4) NOR Gate

SPACE FOR ROUGH WORK
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Jation schema R is in 2NF (2 Normal Form) if every

Are attribute 'A' in "o <

s dependent on the primary key of R. E5E 'R is fully functionally
(1) Pprime attribute (2) Non-Prime attribute
3 CompOSiTC‘ attribute (4) None of the above

Delete operation in a Database can violate which of the following constraints?
;l'

0 Entity Integrity Constraint (2) Referential Integrity Constraint

(3) NULL Constraint (4) Domain Constraint
o. Which of the following is NOT the desirable properties of the transactions in the database?
(1) Atomicity (2) Consistency
(3) Isolation (4) Redundancy
93, Match the following: |
a) Optical fiber cable i. RJ-45 Connector
b) STP Cable ii. BNC Connector
¢) UTP Cable iii. ST /SMA Connector
d) Coaxial Cable iv. D-Shell Connector
Codes: . :
s Lb-Bc-tia-iv @) a—iii, b — iv, ¢ — i, d — i
(3)a—iv, b—iii, ¢ — i, d — i (4) a —ii, b —i, ¢ — iv, d — i

94.  What is the main purpose of the Windows Pre-installation Environment (WinPE)?
(2) To boot a system with a graphical user interface. '
(b) To perform disk management tasks
(¢) To connect windows update servers
(d) To provide a minimal OS environment for installation, recovery and troubleshooting
Which of the above statement/statements is/are correct?

: (1) c and
: d only (2) d only
, (3) a only

,_ & (4) b only

Which gate is ygeq :
8 : in the design of a NOT Gate when using NAND Gates only?

(1) NAND

_ WD Gate
'f () ANp Gk (2) OR Gate

SPACE FOR ROUGH WORK
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v6.

98.

99.

100.

SES 2016 I oy 2com tox ooy Xoad, b 9
(1) 1024

(3) 16384

(2) 256
(4) 4096

B NS 03T F=Rons R WA, Vordpext wITewdon® 2ZoR FONe ITon 300 Iy

o

FIRERT W 0T $Bo3 P oy Jocg ODR) TRTWWEITINHIT ?
(a) Diskpart

(b) Ipconfig
(¢c) CHKDSK (d) SFC / scannow
e:soizﬂ@éo :
(1) a =33 ¢ =3, (2) d IR,
(3) ¢ =3, (4) d D b TRZ,

ROBACTFHD , CIRT 0T LB VLIRS B DORACTNERY Bed) B,FAZTN oI
DOTF Tor I BRI LR WL BT AeRIT?

(1) SPAN e3¢5 (2) &% 33, (Task View)

(3) HTee 2058 (Aero peek) (4) otdn,cef FJS® (Control Panel)
SENTRYNYY 0IRYT) WRSF L3 e Om IMRVAE FATO od00d, 8 Foage BTk eNd?
(1) SOBS® Youw® ) ar;ldaj Q03T

() WP, LT (4) & Oon® AT

FINTRYNLD oY1 BATO TN, FWT TOTR, LT T, e, oon' U9 0rie22® UNIVAC 3008 tnpod
RROTLO DT ARAPIANG 0 ¢Tixh Fetv WWHZ DWE Fp,em,o R, 0R 2NV 2000 0T
BORe3TINT? %

(a) LISP (b) Fortran
(c) COBOL d)C

(1) ¢ 32 b JRE, (2) b 33,
(3) d =32 a FIE, (4) a IR,

SPACE FOR ROUGH WORK
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96.

97.

98.

99,

100.

What is the maximum number of columns available in Excel 2016?

(1) 1024 (2) 256

(3) 16384 (4) 4096

Which command-line too] ip Windows allows

you to test the integrity of system files and repair
missing or corrupted files?

(a) Diskpart (b) Ipconfig

(¢) CHKDSK (d) SFC / scannow
Codes:
(1) a and ¢ only (2) d only

(3) c only (4) d and b only

In windows, which feature allows multiple virtual desktops to be used for better organisations of
open applications and windows?

(1) SPAN asset (2) Task View
(3) Aero peek (4) Control Panel

Which of the following is the first mechanical computer designed by Charles Babbage?
(1) Analytical Engine (2) Difference Engine
(3) Jacquard Loom (4) Turing Machine

Which of these early computer programming languages was designed to run on the UNIVAC and
is considered one of the first high-level programming languages?

(a) LISP

(b) Fortran

(¢) COBOL

(d)C

(1) c and b only (2) b only
(3) d and a only (4) a only

SPACE FOR ROUGH WORK
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